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AT AL SN RS
HM: HY2HAY| (XL
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AR .24 BB OEH) - NEAY - BAS 0 Ak o8 ﬁlf& HDS2
-HEH 975,984
32 8,511,095& »2H x12& 204,267
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-S N 1,112,889
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8= 1,887,870& x1H ~12& 22,655
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OFSF=3=, 86,507
OFH+Y 126,715
-2 Jt= 25,920
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20 0] &f 110,000& *1H x12& 1,320
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-~ 11,695
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-Jlsdg8ax4 3,840
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= 92,500
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= 138,000
308 XXIEHHSOIA 138,000 165,000 A 27,000
= 138,000
01 HXNHHBHELS 138,000 165,000 A 27,000
O (A=sHE)HZAUSNE X2 138,000
= 138,000
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= 46,000
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= 30,000
01 XM A=2EE 30,000 0 30,000
OloT sJIH nsotd « AtDZX 28 I
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= 30,000
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= 7,500
< 7,500
201 L4l 760 760 0
= 380
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01 At 2t 2l 700 700 0
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02 =24l 60 60 0
O8Xzds 288 60
= 30
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SEIEAL2E 157,500
= 157,500
O=lstd=s) =23 B X 18,000
= 18,000
OxXH L 2 9,000
= 9,000
Oodad sitaeld 29 35,000
= 35,000
ShE AN RA(XH) 250,000 250,000 0
= 250,000
403 XIS E X201 & 250,000 250,000 0
= 250,000
01 X SHHXN2E = 250,000 250,000 0
Os42 JFEHA 29 250,000
= 250,000
EER B ¥ (YY) 162,000 206,800 254,800
= 152,000
308 A EHHSOIA 152,000 206,800 A 54,800
= 152,000
01 HXNHHNBHEELS 152,000 206,800 A54,800
OJltsghr 2=k =3 152,000
= 152,000
s&s Yols gHul(Xd) 966,000 640,000 326,000
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A= sl 2M s8I d
Y sUsE)sXY
S MII=ESMEX (Sl & &)
A= 2A - BB SAEH) - NPAY - BES 0l &t o il HDEZ
= 966,000
308 XXM SO A 966,000 640,000 326,000
= 966,000
01 AXSHHBAEES 966,000 640,000 326,000
Oszs dails 2 Ml 966,000
= 966,000
s&g gols g 28 N/ (2Y) 16,000 16,000 0
2 8,000
= 8,000
201 LEt2A | 16,000 16,000 0
2 8,000
=) 8,000
01 At 2teltl 16,000 16,000 0
Oous & E24= 7,000
= 3,500
=) 3,500
O=sx= doid dda 2| 7,000
= 3,500
= 3,500
Ogois dHIE P2 2,000
= 1,000
< 1,000
s&E Yolls dca 22 X (XH) 92,000 92,000 0
= 92,000
308 MtXIEHSOIH 92,000 92,000 0
= 92,000
01 HXNHHNBHEELS 92,000 92,000 0
Ogols HEZE A 24 92,000
= 92,000
S&s Yolls 22X 22 N (XH) 25,950 25,950 0
= 25,950
308 XX EHHSOIA 25,950 25,950 0
= 25,950
01 HIXNHHNBMNEES 25,950 25,950 0
Oddizs 2% 29 25,950
= 25,950
2ot2el HolEs oEgHe 22 (2E) 141,000 90,000 51,000
= 70,500
= 70,500
101 14l 56,160 38,300 17,860
= 28,080
=) 28,080
04 JItNZ22XSE* 56,160 38,300 17,860
OgoiEe: EXeR 42,501
= 21,251




M ox
40 5 4

ICEMEE SN sYllER
D sYsE)EN

PMIIEESAgXR

- _ — d =
A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2

== 21,250
Odxt=¢ 1,539
= 769
< 770
O= &l 3,108
2 1,554
< 1,554
OgZE S Ottl 3,446
2 1,723
< 1,723
OdHERE= 5,566
2 2,783
< 2,783

201 £B-2dH| 64,840 36,700 28,140
= 32,420
< 32,420

01 At 22/l 54,840 30,200 24,640
Oddis ZE g dE 22,000
2 11,000
< 11,000
Odgdis M 23| 32,840
= 16,420
< 16,420

02 =224l 10,000 6,500 3,500
OozExtg Hett 7,000
= 3,500
< 3,500
ORERS 3,000
= 1,500
< 1,500

202 O4dl 20,000 15,000 5,000
2 10,000
< 10,000

01 = LH 4 di 20,000 15,000 5,000
Ogdis HELHE 2 20,000
= 10,000
< 10,000

2ot HolEs HEYHME 2 (XH) 493,500 180,000 313,500
= 493,500

308 XXM SO A 493,500 180,000 313,500
= 493,500

01 IXNHHBNEES 493,500 180,000 313,500
O=Jt&cldais My 29 493,500
= 493,500

DAstar SAHYH HSALY DSa AL (NR) 120,000 0 120,000
2 120,000
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M ox
40 5 4

P sdEllsd 2 M

P sgsEJ=sNE

PMIIEESAgXR

AR .24 B BAGEN) - NRANY - BES Ol &k o8 il HlnE2

403 UHXSHHSA=0l& 120,000 0 120,000
= 120,000

01 HXHMA=LE X 120,000 0 120,000
Olt==3tad HSAAYE 25 120,000
= 120,000

Neggils FLAUSAIAE 2H(XA) 500,000 0 500,000
= 500,000

403 XSS A0l & 500,000 0 500,000
= 500,000

01 XM A=2EE 500,000 0 500,000
OLNREEHE ZLAUHAAY” 2= 500,000
= 500,000

SHYUH =AEAS(HE) 2,000,000 0 2,000,000
= 1,600,000
< 400,000

301 LENF 2,000,000 0 2,000,000
= 1,600,000
< 400,000

12JIE 243 2,000,000 0 2,000,000
SEHLN B4z 2,000,000
= 1,600,000
< 400,000

drestaY AMEEHY 24 X (REY) 250,000 0 250,000
= 200,000
S 50,000

301 LEXZ 250,000 0 250,000
= 200,000
< 50,000

12243 250,000 0 250,000
Ottt MHA AT HMA 250,000
= 200,000
= 50,000

ANEE SHEXNJMH XN (HE) 10,000 80,000 A70,000
= 5,000
< 5,000

201 2et2 Y| 10,000 12,300 £2,300
= 5,000
< 5,000

01 At 22l 10,000 12,300 A 2,300
OANEYZ wWs ¥ 2448 10,000
= 5,000
< 5,000

ADIER SEXAMH XNR(NH) 45,000 0 45,000
= 45,000
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A -bEL SN sYllER
o sYsEI| S
S MII=ESMEX (&)
= — — L=
AR SA Y- SAEA) - HRAY - BES 0l &t o il Bl RE2
308 X EHSOIA 45,000 0 45,000
= 45,000
01 HIXNHHBHEELS 45,000 0 45,000
OABLEE RAE= & AZ2e X 45,000
= 45,000
= LEIS(BES3) M3 N (XH) 100,000 0 100,000
= 100,000
308 XXM SO A 100,000 0 100,000
= 100,000
01 AXHHBISEES 100,000 0 100,000
Ol RERS d¢t - 38 K& 100,000
= 100,000
ANHgag a2 EL(Ile22, X&) (HEAR) 1,449,000 1,365,000 84,000
403 A X EHS =0l A 1,449,000 1,365,000 84,000
01 X SHHX2E= 1,449,000 1,365,000 84,000
OXgadstas Jgtxy 1,449,000
NASEHSLEE B2 0l=22, ) (HSAI) 250,000 250,000 0
403 A X EHHSH20IA 250,000 250,000 0
01 HXESHHMA=E L 250,000 250,000 0
OXNYEs2+=88 22 250,000
N=2SNYRY 50,600 45,000 5,600
201 Let24E] 30,000 30,000 0
01 At 2t 2l 30,000 30,000 0
O e8| 30,000
202 (44l 15,000 15,000 0
01 S LHOIYI 15,000 15,000 0
OJIsE2SAMgad =8 Ol 15,000
405 XHoHF S HI 5,600 0 5,600
01 AL ESFH S 5,600 0 5,600
OAS A dihg ) 2,000
OAMEE 4 1,600
OMEE 2 Xt 1,400
Oo0lsA NE 600
E2% 73 29 2 =520 D 86,400 86,400 0
201 et 41,400 41,400 0
01 At 22l 34,400 34,400 0
Ou=s & A3 2+ 7,000
OsXHENE HAUX 15,400
Oou=s & E2AE 12,000
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A= sg8)=d =)=
HY: so=E)aXd
e MII=23AIg X =R RESECD)
AR 2N HB .S (SH) - MBAY - ofl &k o San HDE2
ONEZE &2 2IIIIX &4 A 16,800
O=MI tHHl sSA=E ¢ It 21,000
OESY 34 L 22 JlesEa AlY 18,900
ORLeIAF 23 XsaZAAE 8,400
OEHA SO0LAF AIEIAE Al E 12,600
O R Jisd 25 M&as 12,600
OJE 2k EH B &4 16,800
s=dassEg X3 5,918,086 2,935,836 2,982,250
= 1,507,250
hag 1,855,000
< 2,555,836
SHAD|=AE(sEXE ,XE) 730,000 855,000 A 125,000
= 730,000
403 XXM S K201 A 730,000 855,000 A 125,000
= 730,000
01 HXHNMAHEE = 730,000 855,000 A 125,000
OAIZL DNEte ZetXl & 1 = 35,000
= 35,000
OsEN3gs IgZz Y 23 50,000
= 50,000
OSAIe =28 JIsXd(1E X 200,000
= 200,000
OEMKY 828 JIsXH(2EA) 300,000
= 300,000
O 282 &3 S2&H J= 35,000
= 35,000
OXNEZE HOIAHZIE HLIIS AlEY 35,000
= 35,000
Ofdie HH 838d M & =
Al 35,000
= 35,000
O=248 32 08 54 ga4ax 40,000
= 40,000
SENINSMISNA (SENS EE) 500,000 0 500,000
= 250,000
[ 250,000
401 Al HI YL 2 0HHI 500,000 0 500,000
= 250,000
= 250,000
01 A& HI 500,000 0 500,000
OXNgsgEH 25 500,000
= 250,000
& 250,000
SENMEHMI SN (SENH, N) 105,000 100,000 5,000
= 105,000
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A2 sz SN sYllER
M sgd=sEJI=XE
ool sEM4EEE A (B9 ®R)
AR .24 B BAGEN) - NRANY - BES Ol &k o8 il HlnE2
01 At 22l 9,200 9,200 0
OZAs AMFFA Let=EH] 9,200
= 4,600
< 4,600
03 &AL Z I 7,000 7,000 0
OZAsUHE &It 7,000
= 3,500
< 3,500
202 01t 4,800 4,800 0
2 2,400
< 2,400
01 = LH 4 Hi 4,800 4,800 0
OZAs Atg2tel & A EIF SXIX& 4,800
= 2,400
= 2,400
301 LEHZ 3,000 3,000 0
= 1,500
< 1,500
09 HALAHIX &S 3,000 3,000 0
OZas U & WS FIotEY 3,000
= 1,500
< 1,500
2AhsAtgze] ¥ EIIXS(XH) 55,000 55,000 0
= 55,000
308 XXl EHH SOl A 55,000 55,000 0
= 55,000
01 HXNHHNBMNELS 55,000 55,000 0
OZasAtg el & EIX& 55,000
= 55,000
SHSSHHNNS2IXNIA(sENE  XE) 7,000 7,000 0
= 7,000
308 XXM S0 A 7,000 7,000 0
= 7,000
01 IXNHHBNEES 7,000 7,000 0
QHEXEIH(sE0deld)dd s 7,000
= 7,000
e ol AEBIIE Jlgsns(sEAE AE) 28,250 31,000 A2,750
= 28,250
308 XtXIEHHSOIA 28,250 31,000 A2,750
= 28,250
01 AXHHILEES 28,250 31,000 A2,750
ORcl# JIZBAE EEH2U= 14,000
= 14,000
Ottst 2l 88us 14,250
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SEBEL SN sYllER
S e
sEMeEseEs N (&2 &)
S 2N BB (BH) - SN - B2 0 Ak o8 ﬁlf& HDS2
| = 14,250
A2H gEE oML AMAYE(sENE XY) 200,000 175,000 25,000
= 200,000
403 XX S S K201 A 200,000 175,000 25,000
= 200,000
01 AXHNMAHEE = 200,000 175,000 25,000
O&=sd &8 ot AFAY 200,000
= 200,000
SEXNTIEXTLE(sE20H 2H) 2,260,000 0 2,260,000
rag 1,130,000
& 1,130,000
401 Al HI L 2 THHI 2,260,000 0 2,260,000
fag 1,130,000
== 1,130,000
01 A& HI 2,234,700 0 2,234,700
OMesera 2|22 120,000
rag 60,000
= 60,000
OsEdl 9sass 25 90,000
fag 45,000
& 45,000
OsEX8Y) s gz 2 50,000
hag 25,000
= 25,000
O=ZHddg 43X dEH 2= 1,974,700
fag 987,350
& 987,350
02 2eltl 25,300 0 25,300
OsZHdE 43X HEH 2= 25,300
hag 12,650
= 12,650
SHNEINZ2I)=sEZ2(sENE X)) 320,000 100,000 220,000
hag 320,000
308 AKX SHHSOIA 120,000 100,000 20,000
rag 120,000
01 AIXHMBAAEXZ 120,000 100,000 20,000
OsdtsE JIZ2Jls E=35 XL 120,000
= 120,000
403 RX S HSK =0l H 200,000 0 200,000
rag 200,000
01 HXHNMAHEBE = 200,000 0 200,000
OsdElE2 S22 X8 Jigtxyd 200,000
rag 200,000
S0 ARR HAIENA(SEXNS, NH) 150,000 150,000 0
Rag 150,000
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slad =N sYlER
sgd=sEJI=Xd
SEMHHAG X2 EERED
= - — SHE]|
22N I BI(EH) - HRAY - BES 0l &k 24 e bl D=2t
403 UHXSHHSA=0l& 150,000 150,000 0
s 150,000
01 HXHMA=LE X 150,000 150,000 0
Osdgel 472 &2glls XA 150,000
s 150,000
SsIHE JIEME OHAHEd s NE(sENE , XE) 50,000 100,000 A 50,000
ras 50,000
308 XXM S0l A 50,000 100,000 A 50,000
s 50,000
01 IXNSHHBMNEES 50,000 100,000 A 50,000
O=Jtg JI234 2 08l X 50,000
s 50,000
SENFEEME I =ANE(sEXE ,XH) 80,000 50,000 30,000
s 80,000
403 A X EHHS =0l A 80,000 50,000 30,000
s 80,000
01 X SHHX2E = 80,000 50,000 30,000
OXZHME T2 22 K& 30,000
as 30,000
OHEE 55% 28 473 UF NI 25,000
s 25,000
OMssts 5% 25,000
s 25,000
SMNEASIHYIIBES (XH) 125,000 0 125,000
s 125,000
403 Ut SHHSA=0l& 125,000 0 125,000
s 125,000
01 HXSHMA=E X 125,000 0 125,000
Osdt2 A4Sig Ity 125,000
s 125,000
SZE 2N ST AG(HSAY) 275,000 276,000 21,000
403 XSS A0l & 275,000 276,000 A 1,000
01 HAXSHMA2EE 275,000 276,000 A 1,000
OsZ& Hzd EXaA AlY 275,000
SHES OFMAIL MY MESH(MEALY) 180,000 180,000 0
403 MtXISHHE X201 & 180,000 180,000 0
01 X SHH2E = 180,000 180,000 0
OsgeEs AL oY MEs 180,000
SO JIBAIEE AIEEH N (HEAY) 175,000 165,000 10,000
403 Mt S E X201 H 175,000 165,000 10,000
01 AXISHHA2E = 175,000 165,000 10,000
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SERETICI=BIEE)
g9l )
F-RA-BH-SAEA) - HRAY - BAS of 4 o4 il HI RS2

101 @l H] 12,167,827 11,582,179 585,648
01 2=+ 9,399,672 8,972,253 427,419

oJles 7,043,528

-2t (HASH) 445,408

43 8,271,000 »2& 128 198,504

52 6,858,440 x3E 122 246,904

-2 A2 (HEH) 2,419,425

o 512t 7,717,850 x19H « 12 1,759,670

A= 6,872,440 x8H x12& 659,755

- LN (S SH) 951,338

= 4,192,2003 x10E 123 503,064

= 2,962,240 x9H 123 319,922

= 2,139,200 x5E «12& 128,352

-7 2,339,939

A 3,361,980 x58H x 12 2,339,939

- XA 887,418

Kl &= A 3,081,310 x24H x 12 887,418

odz2=+¢ 295,442,000& 295,442

OdH=g 543,908

-d2+8tits 99,000

25 0] & 130,000& »20F ~12& 31,200

203 0l & 110,000 8 «12& 10,560

15 01 & 80,0003 x22H 128 21,120

104901 & 60,0002 x16&8 *122 11,520

58 0l & 50,000& *41H 128 24,600

-esFaErd 72,418

LA (65) 4,443,000 x4 1%+2H » 128 4,372

ORI (73) 3,852,000 *4. 1%*1H 128 1,896

QR 4,050,000& »4. 19%*x252H x 12 49,815

S ANEA 3,689,000 +4 . 1%*x9H « 12 16,335

-tE=g 100,080

- HH = Xt 40,0002 86 « 128 41,280

HMAE,JIEROHS 20,0002 «98H x 12 23,520

SUPYE 60,0003 34 128 24,480

S N EPIE] 100,000 ~9& «12& 10,800

-S05d+E 2,548,000 «60%*6H « 128 110,074

-fFg=2f=+g 42,000

=3 50,0002 x62& 122 37,200

85 40,0002 x10H x 12 4,800

-2ESRAE 50,0003 »2H x12& 1,200

-Jlsd2=+¢ 25,560

e X2 60,0002 x7H *12& 5,040
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=
o
10
-
>
0

B.Eg(3) - HSAY - BYS 0 AF o il HZS2
A AL, Kl & A 50,0003 x26H = 12& 15,600
53 50,000& x2H x12& 1,200
- 6T 30,000& x9H x12& 3,240
8~932 20,0003 x2H x12& 480
-JI=dHELH(IHA2) 12,360
DI\ 50,000& *1H +x12& 600
- Jls &, JIA 30,0003 x28H x12& 10,080
AFH DAL 20,0002 x6H x12& 1,440
28, &4 (6~72) 10,000 x2H « 128 240
-HIHRLE 80,760
oA A 80,000& *80H x12& 76,800
SIS W= 110,000& *x3H 128 3,960
- ALY (SMAERIES)
38,000& x1H 122 456
O&HZAHI 140,000 139 »12& 233,520
OYE S| 4,457 ,420,000& /128 x60%*23] 445,742
O I Al Y| 175,027
- SH
2,708,092,000& /128 *78%*86%*1/30% 12! 60,553
-S 2N
3,993,255,000& /128 %86%*1/30% 12! 114,474
Oxl22E 662,505
02 JIEt& B % 418,550 368,334 50,216
OLBHADHI (X LA %A 63,671
-Ja2 4,297,000 x1H x12& 51,564
-tE=g 720
ol < Xt 40,000 x1H x12& 480
B IDPNIE 20,000& 1 x12& 240
- XU22E 4,720
-y HZAYH| 140,000 »1H x12& 1,680
— I Al
112,980,000 /122 x78%*86%/30 x 12 2,527
=] 155,000& x1H = 12& 1,860
- tHolg syl 50,000& *1H x12& 600
OLEHAD M (Al 2EH EXTI) 73,614
-Ja2 4,730,000 x1H x12& 56,760
-tE=g 1,680
b < Xt 40,000 x1H x12& 480
AmolE X4 100,000 x 19 »12& 1,200
- XU22E 5,257
- HZAYH| 140,000 x 19 »12& 1,680
— I Al
47,748,000 /128 84%*86%/30L » 12! 1,150

_94_




A2 sz SN sYllER
M HER2IAU(sYII=d)
Sel: o2y (B9 ®R)
AR .24 B BAGEN) - NRANY - BES Ol &k o8 il HlnE2
== 165,000 x 1H 123 1,980
- el st 50,0003 x 18 «12& 600
- ExRY 304,030 x 1« 124 3,649
-HERE= 52,000,000& *1.65% 858
OFRZE 281,265
-JlEa 3,489,830 x4H x12& 167,512
-32=+¢ 3,489,830 x4 X »45%*23| 12,564
-Eg 2,640
i < Kt 40,0003 x»4H 128 1,920
JIEHILE 20,000 x3H » 128 720
AN+ F) 30,0003 x1H«12& 360
-&d24 Itttz 5,040
154 Ol & 80,0003 x2H 123 1,920
254 014t 130,000 x2H x12& 3,120
- Z A S A 140,000 4 H 128 6,720
~ 01JHB Al
167,520,000 /128 «86%*1/30* 12 4,803
- ECES
(145,000 3 +155,000& * 1 )« 128 7,080
—tHer e syl 50,0003 x»4H 128 2,400
-FEFIHl 13,960, 000& *60%*22] 16,752
-2 46,180
A2 32,130
o224 14,050
-HERE3 167,520,000& *5.5% 9,214
03 2R (RIAHA)2Z2NHES 2,349,605 2,241,592 108,013
o2+ 2,247,027
-Jlas 2,500,824 x54H x12& 1,620,534
- -0t 5E2E2SE
14,4713 x150%* 15A1 2hx54H x 12& 210,988
S PNESS = 14,4713 x8A| 2tx 152 «54H 93,773
- Y EFOHI 2,500,824 & x60%*23| x54H 162,054
- gAY 140,000& x54H » 128 90,720
-EE 73,7143 +35% 128 30,960
-fE=¢ 50,0003 *x30H «128 18,000
i ) P = 32,0483 +x52H 128 19,998
OEI&Z3 102,578,000& 102,578
204 HR=HAH| 326,160 332,520 26,360
02 A2l 326,160 332,520 26,360
OgerA 63,960
4= 400,000 x2H x128 9,600
-5 250,000 x3H 128 9,000
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A= BAEZH A PN BASZHAIE
Hu: BB 2Y
el BAST EERED
- _ — d =
A RN-FE-BA(SH) - MEAY - B 0l &t o il Bl RE2
O&AIS & HAME 2 20,000
2 10,000
< 10,000
NEAHF A olmet RE(2FH XF) 388,590 493,590 A 105,000
J| 155,436
= 233,154
201 2et24E] 40,000 35,000 5,000
J| 16,000
< 24,000
01 At 22l I 5,000 0 5,000
OXNGAHNFEHOI Ot A LEt=ZH| 5,000
J| 2,000
< 3,000
02 =224l 35,000 35,000 0
OMSotM3S = AR AIE(BL3) =Ll 35,000
p] 14,000
< 21,000
202 044l 5,000 5,000 0
J| 2,000
< 3,000
01 = LH o4 1l 5,000 5,000 0
OXNgGAHFg@aIHoI et SZ0HI 5,000
J| 2,000
< 3,000
207 51 OH &l 343,590 453,590 A 110,000
J| 137,436
< 206, 154
03 Al & 11HI 343,590 453,590 A 110,000
O&HAIS & HAME 2 343,590
J| 137,436
< 206,154
NABRE o1Tet AR (NSRY S XH) 112,500 120,000 AT7,500
J| 45,000
< 67,500
405 XtAHE S| 112,500 120,000 A7,500
p] 45,000
< 67,500
01 et EZFHSHI 112,500 120,000 A7,500
OndESAss3 | 87,500
J| 35,000
< 52,500
ogza: 25,000
J| 10,000
< 15,000
204 ABHHLSBSHANY 2 36,000 36,000 0
J| 18,000
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A= BAEZH A N BHEZHAIA
M BAHANIY 2Y
el BASE (St &)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2
< 18,000
207 O] 36,000 36,000 0
J| 18,000
< 18,000
03 Al & 11l 36,000 36,000 0
OdEAS & =X Y 36,000
J| 18,000
< 18,000
C2H0IMANS AEA ZAY 2Y 30,000 28,626 1,374
J| 9,000
< 21,000
207 RO 30,000 28,626 1,374
J| 9,000
< 21,000
03 A& &2l 30,000 28,626 1,374
O&EAIs & HAAME P& 30,000
J| 9,000
= 21,000
LS 280l A HAF X 12,653 12,653 0
= 5,061
< 7,592
207 1 OH £ H| 12,653 12,653 0
= 5,061
< 7,592
03 Al & 11HI 12,653 12,653 0
O&HAIS & HAME 2 12,653
= 5,061
< 7,592
ASEZ ZAM XA 61,908 61,908 0
= 24,763
< 37,145
202 04l 5,000 5,000 0
= 2,000
= 3,000
01 = LH &4 1l 5,000 5,000 0
OMES=Ew F=HAC 0 5,000
= 2,000
< 3,000
207 A RO 56,908 56,908 0
= 22,763
= 34,145
03 Al & 1 HI 56,908 56,908 0
O&EAI & HAME ¢ 56,908
= 22,763
< 34,145

- 104 -




IR e SN BABHATE
M BAHANIY 2Y
el BASE (St &)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2
OO X HHAME MU THE = 20,470 20,470 0
J| 10,235
< 10,235
202 O4dl 2,000 2,000 0
J| 1,000
< 1,000
01 = LH 4 di 2,000 2,000 0
OO0l =& X I A2E SH0H 2,000
J| 1,000
< 1,000
207 A RO 18,470 18,470 0
J| 9,235
< 9,235
03 A& &2l 18,470 18,470 0
Oolol =&kt ZJ1& & B A JEAISE & =X+
& 18,470
J| 9,235
< 9,235
=tz M2 ALY 56,318 55,326 992
J| 28,159
< 28,159
207 A RO 56,318 55,326 992
J| 28,159
< 28,159
03 A& & 24l 56,318 55,326 992
OdHANSY & =7 56,318
J| 28,159
< 28,159
SHSEI U0 AMEA 2AMY 2Y 35,000 35,000 0
J| 17,500
< 17,500
207 A RO 35,000 35,000 0
J| 17,500
< 17,500
03 A& &2l 35,000 35,000 0
O&EAl & HAME ¢ 35,000
J| 17,500
< 17,500
EAoZ A 360,000 300,000 60,000
201 ¢er24l 70,000 70,000 0
02 =224l 70,000 70,000 0
OAE ZHI S X 70,000
207 Aol 290,000 230,000 60,000
03 A& &2l 290,000 230,000 60,000
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A2 BAHIATRE SN BABATE
Hu: BB 2Y
Sel: HIleHENYRY CERED
AR 2N EH O () - MBEAY - BAS 0 AF o il HZS2
osds 29 324,797 606,636 N 281,839
201 Bt H | 316,797 595,636 N 278,839
01 AP 22l Yl 1,400 1,400 0
OZ2 &l 1,400
-iegid=zMedg 1,400
02 352494 315,397 594,236 N 278,839
O332=2 2 HA 28,611
-oIs8Y &8JIeaE S 28,611
OA & &Hl XYl 286,786
202 04 b 8,000 11,000 A 3,000
01 2LHHI 8,000 11,000 A 3,000
oI sduUdEd &0 8,000
oEsda 29 XN 277,200 0 277,200
308 XX SHAMSOIA 277,200 0 277,200
01 AIXHMBANEXZ 277,200 0 277,200
OoMJIEsdA~ 29H K& 277,200
oleEsdA WHd XN (AE2EX) 112,500 0 112,500
= 75,000
= 37,500
403 X SHMS K201 112,500 0 112,500
= 75,000
= 37,500
01 XX SHMAA2EX 112,500 0 112,500
OtJIsd A WHH X& 112,500
= 75,000
& 37,500
stgatel 816,700 844,700 A 28,000
= 94,000
T 722,700
SHELEET HA 321,700 296,700 25,000
201 LBt | 55,000 55,000 0
02 3524l 55,000 55,000 0
OAI& &H|l RXHl 55,000
202 04| 6,700 6,700 0
01 2LHOHI 6,700 6,700 0
OHJIZEZA ANEHFH SE WY 2,700
OYHeEE2dAN ANEHE SEUYI 4,000
207 & 74 2l 260,000 235,000 25,000
03 A& b 260,000 235,000 25,000
OFtE2Yd ZAIAIY ¢ 260,000
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Az PP SN RASAADE
Hu: BAHYARY 2Y
ool s CER-ED
- _ _ RE]
AT SN BH O (3H) - MEAY - BES Ofl At o4 %Eﬁ HR=2
2L HAI SEHH 2L 307,000 305,000 2,000
405 XHoHF S HI 307,000 305,000 2,000
01 XA 2 FF S| 307,000 305,000 2,000
Se X8 224 (XRF) 78,000
OJIM3A=20tEelul (FID/ECD) 67,000
O0l23AZOIEDOMNII(Sol2deeA) 80,000
O2A2s&8EX 18,000
OJIM3A=20tE e 1l (ECO/NPD) 64,000
SEHAZ0F AIEZAIL 2 HE H&d J|32F ALY 188,000 243,000 A 55,000
= 94,000
& 94,000
101 Q124 4| 70,000 81,728 N 11,728
= 35,000
o= 35,000
04 JI2ZtHIZ22NEES 70,000 81,728 N 11,728
OEIHZ20F AIEZAI €R2E=X 70,000
— Ol 4 H| 63,140
= 31,570
= 31,570
-gHage=2 6,860
= 3,430
= 3,430
201 gEt24Hy| 51,500 35,000 16,500
= 25,750
& 25,750
01 AP 2t 2] H| 19,500 3,000 16,500
oMNRES2Y 3,000
= 1,500
= 1,500
o2&y Agalo A 16,500
= 8,250
& 8,250
02 B32%H| 32,000 32,000 0
OAl& ZHI KX Y| 32,000
= 16,000
= 16,000
202 044l 6,000 8,000 A 2,000
= 3,000
o=t 3,000
01 2L I 6,000 8,000 A 2,000
OBYSO SY2LSY A4S A8 SZ0H 6,000
= 3,000
= 3,000
207 A3 IH | 60,500 63,272 N2, 772
= 30,250
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A2 BAHIATRE SN BABEAR
M PASACIY 29
chel: s 2el (2 &HH)
- _ _ RE]
AT SN BH O (3H) - MEAY - BES Ofl At o4 %Eﬁ HR=2
= 30,250
03 AIE A 32| 60,500 63,272 N2, 772
OEZZ € ZMHE 7 60,500
=2 30,250
o= 30,250
ZANARD | =XH 46,240 30,480 15,760
Al B2 AT 2 46,240 30,480 15,760
201 et | 18,480 6,480 12,000
01 AP 22| d| 18,480 6,480 12,000
Ogt42H| 17,000
- RAAYE ol 5,000
—HAN ) E2EE oM 12,000
OXMAIZANY AR=28 A S 292¢ 1,480
202 o4 | 4,000 4,000 0
01 2L I 4,000 4,000 0
OZAMNAIAIY SX=H 4,000
207 I & 22,560 18,800 3,760
03 A&l o 32H| 22,560 18,800 3,760
OXZAMNAZAIE L AIZHAY =X MMESH S 22,560
303 ZA& 2 1,200 1,200 0
01 LAZ 1,200 1,200 0
OXAMAIZAY 00 HE A& 1,200
HHLSABH(BHSHZI AR 6,588,500 6,502,026 86,474
= 24,577
Fag 9,036
J| 54,682
& 6,500,205
ol =2 A Y| 6,354,860 6,291,696 63,164
= 24 577
Fag 9,036
J| 54,682
& 6,266,565
ol =AY 6,056,993 6,011,892 45,101
101 Q124 H] 5,831,829 5,829,732 2,097
01 2 5,481,176 5,520,740 A 39,564
oJlea 4,003,532
—dBtX (A =Z2H) 86,247
- 53 7,187,230 x 128 x12& 86,247
-z (H=H) 1,211,282
o 22 6,729,340 x15H «12& 1,211,282
- 2Bt (s 2H) 377,476
= 4,106,020 x5 x12& 246,362
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42 s A TR SN BABATE
MY @AY (BABAARH)
Sel: o2y (B9 ®R)
AR .24 BB OEH) - NEAY - BAS 0 Ak o8 ﬁlf& HDS2
72 2,919,840 x3H x12& 105,115
8= 2,166,510& x 1 x12& 25,999
-3 (s2H) 2,328,527
A2 AL 2,985,290 x65H x12& 2,328,527
oO&d=2=+¢ 161,472
(OGRSl R 288,645
- dI2FEIHa2 36,840
254 0] & 130,000& *13H x12& 20,280
204 0 &f 110,000& 2~ 12& 2,640
158 0] & 80,000& x4 x12& 3,840
1048 0| & 60,000 x4H x12& 2,880
5 0 &t 50,000 x12¥8 x12& 7,200
—-UHRsFIALY 33,069
2l Ht & 4,084
AR 28,985
-IExE 46,080
- i < Xt 40,0003 x28H x12& 13,440
0 (PIE 20,000& 138 x12& 3,120
=M AE 60,0002 x5H x12& 3,600
- A Ol = XS 100,000& 118 x12& 13,200
- JIEHDHS 20,000 x53H x12& 12,720
-ROFdY 28,653
e oA 2 A 28,653
-fEZ22sE 46,680
25 50,000& x77H x12& 46,200
893 40,000& x1H ~12& 480
- ARSY 74,880
AR 80,000& x78H x12& 74,880
—o2geLag(ZEEUE) 3,600
A A 50,000& x6H x12& 3,600
-Jlsd8a4 960
- 6~TE 30,000& x2H x12& 720
8~932 20,000& x1H ~12& 240
-J=dELE(IHA2) 480
AR DI AF 20,000& x2H x12& 480
-AALG 50,000& *1H x12& 600
-2 gRLE 16,803
Ox2RE 497,464
O&HZ A 140,000& *91H x12& 152,880
OY & = IHy| 2,705,967,000& /128 x60%*23] 270,597
OH I8 AtY| 106,586




R EEET] SN BABATE
HHSAAY (BABYARH)
el 2l (&)
SN -ZH-SA(BA) - HRAY - B Ol &k o8 il HlnE2
-HENM
1,297,529,000& /12%78%*86%+ 1/30%12 29,013
-S=H 2,706,007,000& /1286%+1/30%12 77,573
02 JIEtE B 130,787 123,113 7,674
OB IIM (& H A 130,787
-JlE= 9,780,160 x1H x12& 117,362
-tE=g 720
i < Xt 40,0003 x 18 128 480
JIEI IS 20,0003 x 18 «128 240
- =] 140,000 x1H x 123 1,680
— HOtE 4|
9,780, 160 «78%*86%+*1/30% 12 2,625
- g X4l 500,000 x1H x12& 6,000
-HgE BN 200,000 x 18 128 2,400
03 BRI (RINHY)22HES 219,866 185,879 33,987
ORHAMAREX (HE XA ) 54,859
-Jles 3,284,030&+12& 39,409
- ot 722+
18,4333 x150%*15A1 2+ 12& 4,977
i PN Ry 147,462 » 15 2,212
- EF0Hl 3,284,030& *60%*23] 3,941
- Mg Al 140,000& 128 1,680
- NEG (SN, 2/, =M)
120,000& »12& 1,440
- 25043 100,000& =122 1,200
ODJAMALE X (XX A1) 34,007
-J22 2,068,310& 122 24,820
- O FYE2Z2E
11,6513 x150%*15A1 2+ 123 3,146
PN = 93,211& x15¢ 1,399
- FEFIHl 2,068,310 *60%*22] 2,482
= =] 140,000& =128 1,680
- HE=<(JIEIIE) 20,000& x1H » 128 240
- 25043 20,0003« 123 240
OIS R2A (LA 33,058
-Jles 1,890,990& »12& 22,692
-JlEsSgE o, 5224
10,9103 x150%*15A1 2+ 123 2,946
PN = 87,276& x15& 1,310
- EZ S0l 1,890, 990& *60%*22] 2,270
- Z U gAY 140,000& =128 1,680
- NHESL (WX, AW, S M)
120,000& =128 1,440
-fE==¢ 50,000& +x12& 600
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